29014 inch fR&IEXE#EL - inch

7= miiEA

M
%4,
B 124 DIN 7984 M/SARF DIN 985 , 4N,

A
KLNXBITELE,
BERERIRRFASARS,

BR:
R~ AMESREN , HFAER T mm R84,

BEEXK
AT EENREM,

INCH
Parts

© norelem www.norelem.com



29014 inch fR&IEXE#EL - inch

© norelem www.norelem.com



29014 inch 8 &£ E#k - inch

.
195]
m

W

= [ | N j |
“ T 1 1
U
H -
(7 )
[va]
T < J = ' L 710
- —/
[
Q) ) y _
. M _ . -
- - U _ T ’%‘n—’
7 N (= TR
— @ ' {/\ I
@ 1
| H-D- - e =S

v
A\
(-
@_
&

29014-5CP 1 0.5 6 1825353135 38| 325 |41 | 50 5| -]123 - M6x20 40
29014-5CR 1 0.75 6 18 |25|35|31|35 38| 325 | 41| 50 5| -123 - M6x20 40
29014-5CS 1 1 7 30|40 |40 |50 |55 53 53 63| 78 7| -3 - M8x25 60
29014-5CT 1 1.25 7 30|40 |40 |50 |55 53 53 63| 78 7| -133 - M8x25 60
29014-5D2 3 1.5 9 42|56 |60|70 |80 80 74 87| 105 | 10 | 60 | 40 52 M10x30 82
29014-5D4 3 2 11 50 |66 | 65| 83|90 98 85 98 | 128 | 14 | 62 | 45 60 M10x35 100

© norelem www.norelem.com



29014 inch fR&IEXE#EL - inch

© norelem www.norelem.com



